



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{3}{5} - \frac{3}{2}\right)^2 - \frac{3}{4}\left(\frac{3}{5} - \frac{1}{3}\right) =$$

$$\left(\frac{1}{5} + \frac{2}{5}\right)^2 + \frac{2}{3}\left(\frac{1}{3} - \frac{1}{5}\right) =$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{2} + \frac{2}{3} + 4^2 =$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{1}{6} - \frac{1}{5}\right)^2 =$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{3}{4}\left(\frac{1}{4} + \frac{2}{5}\right) =$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{3}{4} \times \frac{2}{3} \times 4^2 =$$

$$\left(3 - \frac{3}{4}\right)^2 - \frac{3}{5} - \frac{1}{2} - 2^2 =$$

$$\left(\frac{3}{4} + \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) =$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{3}{2} - \left(\frac{3}{4}\right)^2\right) =$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{2}{5}\right) =$$



Tên: \_\_\_\_\_

Ngày tháng: \_\_\_\_\_ Điểm: \_\_\_\_\_

$$\left(\frac{3}{5} - \frac{3}{2}\right)^2 - \frac{3}{4}\left(\frac{3}{5} - \frac{1}{3}\right) = \frac{61}{100}$$

$$\left(\frac{1}{5} + \frac{2}{5}\right)^2 + \frac{2}{3}\left(\frac{1}{3} - \frac{1}{5}\right) = \frac{101}{225}$$

$$\left(3 - \frac{1}{4}\right)^2 - \frac{1}{2} + \frac{2}{3} + 4^2 = \frac{1139}{48} = 23\frac{35}{48}$$

$$\left(\frac{3}{4} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{1}{6} - \frac{1}{5}\right)^2 = \frac{91}{900}$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{3}{4}\left(\frac{1}{4} + \frac{2}{5}\right) = \frac{3}{40}$$

$$\left(2 + \frac{1}{6}\right)^2 + \frac{3}{4} \times \frac{2}{3} \times 4^2 = \frac{457}{36} = 12\frac{25}{36}$$

$$\left(3 - \frac{3}{4}\right)^2 - \frac{3}{5} - \frac{1}{2} - 2^2 = \left(-\frac{3}{80}\right)$$

$$\left(\frac{3}{4} + \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{2} - \left(\frac{1}{6}\right)^2\right) = \frac{121}{72} = 1\frac{49}{72}$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 + \frac{1}{6}\left(\frac{3}{2} - \left(\frac{3}{4}\right)^2\right) = \frac{37}{32} = 1\frac{5}{32}$$

$$\left(\frac{3}{2} - \frac{3}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{4} - \frac{2}{5}\right) = \frac{49}{80}$$